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Prove that a closed subset K of a compact space X is compact.
Proof.
e Since X is compact, we know that X is ........................ and so K endowed with
the ... ... isalso ..o
e Let {Q;}icr be an open cover of K. Then ... ...,
is an open cover of X, Decause .. ... ... e
e Then by the compactness of X we have that ...... ... ... ... . .
Hence, we have two possible cases:
o If ... ..., belongs to ......... ...l , then we are done.
o If ............ does not belong to ........................ , then we consider the family
........................ which is still a finite subset of {€;};c; covering K.

Hence, K is compact.



